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���VWUHWQXWLH
3UHGVWDYHQLH�VD�SRVXG]XM~FHKR�SV\FKROyJD��]iNRQQi�~SUDYD�D FLHOH�UHKDELOLWDþQpKR�SURJUDPX�
SUH�YRGLþRY��SUDYLGOi�D RUJDQL]DþQp�SRN\Q\��DGPLQLVWUDWtYD�� ]R]QiPHQLH�VD�Y�UiPFL�VNXSLQ\�
SURVWUHGQtFWYRP�DNWLYtW�D�]YHUHMQHQLH�G{YRGX�~þDVWL��YRGLþVNi�DQDPQp]D��

5R]GHOHQLH SRUXãHQt� SUDYLGLHO� FHVWQHM� SUHPiYN\� SRGĐD� ]iNRQD�� ãWDWLVWLN\ GRSUDYQHM�
QHKRGRYRVWL� I\]LFNp��SV\FKLFNp��VRFLiOQH�D SUiYQH�G{VOHGN\�GRSUDYQHM�QHKRG\�

=DGDQLH�SUtSUDY\�QD�ćDOãLH�VWUHWQXWLH ± GHILQRYDQLH�PRWtYRY��NWRUp�~þDVWQtNRY�UHKDELOLWDþQpKR�
SURJUDPX�SUH�YRGLþRY YLHGOL�N�UL]LNRYpPX�VSUiYDQLX�

���VWUHWQXWLH
$QDOê]D�PRWtYRY�N� UL]LNRYpPX�VSUiYDQLX��RNROQRVWt�SRUXãHQLD�SUDYLGLHO� FHVWQHM�SUHPiYN\�D�
SRPHQRYDQLH�G{VOHGNRY�UL]LNRYpKR�VSUiYDQLD�Y�NRQWH[WH�YRGLþ��YR]RYND�D YR]LGOR� RKUR]HQLH�
LQêFK�RV{E��PRåQp�G{VOHGN\�SUL�SUHWUYiYDQt�UL]LNRYpKR�VSUiYDQLD�

$QDOê]D� SUREOHPDWLN\� SUHNURþHQLD UêFKORVWL� MD]G\ XVWDQRYHQHM� ]iNRQRP�� UL]LNi D PRåQp�
QiVOHGN\��PêWXV�]tVNDQLD�þDVX�UêFKORX�MD]GRX��]iYLVORVĢ�RG UêFKORVWL�DNR�PRWLYDþQê�IDNWRU��ãWêO�
MD]G\ D WHPSHUDPHQW�

6FKRSQRVĢ� UR]R]QDĢ� SRWHQFLiOQH� QHEH]SHþHQVWYR� D SUHGSRYHGDĢ� DNR� VD� WRWR� SRWHQFLiOQH
QHEH]SHþHQVWYR�P{åH�Y\YLQ~Ģ�GR�VLWXiFLH V SUDYGHSRGREQRVĢRX Y]QLNX�QHKRG\�

'HILQRYDQLH� PRåQRVWt� XVSRNRMHQLD� LQGLYLGXiOQ\FK� PRWtYRY� ~þDVWQtNRY� UHKDELOLWDþQpKR
SURJUDPX� SUH� YRGLþRY� NWRUp� LFK� YLHGOL� N UL]LNRYpPX� VSUiYDQLX��SURVWUHGQtFWYRP� YKRGQêFK
DOWHUQDWtYQ\FK�IRULHP VSUiYDQLD�

=DGDQLH� ~ORK\� SUH� VHOI�PDQDJHPHQW ± Y\WYRUHQLH YODVWQpKR SOiQX QD� REPHG]HQLH� EXG~FLFK�
SULHVWXSNRY�

���VWUHWQXWLH
=PHQD�VWDUpKR�]Y\NX DOHER SRVWRMD�QD�QRYê� RSDNRYDQp�SRPHQRYDQLH�LQGLYLGXiOQHKR�FLHĐD� NX�
NWRUpPX�FKF~�GRVSLHĢ ~þDVWQtFL UHKDELOLWDþQpKR SURJUDPX�SUH�YRGLþRY�

'HILQRYDQLH�YRĐE\�DGHNYiWQHKR�VSUiYDQLD VD DNR�LQGLYLGXiOQHKR�]iYl]NX�~þDVWQtND�VNXSLQ\��
Y\WYRUHQLH� SOiQX� VPHUXM~FHKR N� ]tVNDQLX� QRYpKR� QiY\NX� UHVSHNWtYH� DGHNYiWQHKR� VS{VREX�
VSUiYDQLD�VD��VWDQRYHQLH�VL�SRPRFQêFK ~NRQRY��DN�VL�~þDVWQtN�UHKDELOLWDþQpKR SURJUDPX�SUH�
YRGLþRY Y EXG~FQRVWL XYHGRPt�WHQGHQFLX�N�UL]LNRYpPX�VSUiYDQLX�

3ULHVWRU� QD GRSOĖXM~FH� RWi]N\�� WpP\�� SULSRPLHQN\� D� SRGREQH�� Y]iMRPQi� VSlWQi� Yl]ED�
~þDVWQtNRY� UHKDELOLWDþQpKR SURJUDPX� SUH� YRGLþRY D� SRVXG]XM~FHKR� SV\FKROyJD�� Y\VWDYHQLH�
GRNODGX�R�SRGUREHQt�VD�UHKDELOLWDþQpPX SURJUDPX�SUH�YRGLþRY�
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0HQR D SULH]YLVNR�SRYLQQHM�RVRE\� ���������������������������������������������������������������������������������������������

5RGQp�þtVOR
�SRYLQQHM�RVRE\� ������������������������������������������������������������������������������������������������������


$N�URGQp�þtVOR�QLH�MH�SULGHOHQp� XYHćWH�GiWXP�QDURGHQLD�³�

0HQR��SULH]YLVNR��DGUHVD��VtGOR��SRVXG]XM~FHKR�SV\FKROyJD (YLGHQþQp�þtVOR�
�DM�YR�IRUPH�SHþLDWN\��DN�WiWR�REVDKXMH�SRåDGRYDQp�~GDMH�

7êPWR�SRWYUG]XMHP��åH�
SRYLQQi RVRED�DEVROYRYDOD�

UHKDELOLWDþQê�SURJUDP�SUH�YRGLþRY�

'iWXP�]DþLDWNX�UHKDELOLWDþQpKR�SURJUDPX�SUH�YRGLþRY��������������������������������������������������������������

'iWXP�VNRQþHQLD�UHKDELOLWDþQpKR�SURJUDPX�SUH�YRGLþRY�����������������������������������������������������������

0LHVWR�D GiWXP�Y\KRWRYHQLD�GRNODGX������������������������������������������������������������������������������������������

2GWODþRN�SHþLDWN\�D SRGSLV�SRVXG]XM~FHKR�SV\FKROyJD��������������������������������������������������������������


